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Question Number : 1 Question Id : 50521227413 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is meant by ‘sensitive period’ in child development?

Options:

1. Period concerning a rapid advances only in cognition and learning.
2. Optimal period for development of specific capabilities.

3. Period in which development of only language can be accelerated.

4. Period at which physical growth is at its peak.

Question Number : 1 Question Id : 50521227413 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 50521227414 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Cephalo - Candal principal of development states that -
Options:

1. development proceeds from head to toe.

2. development proceeds from centre to extremities.

3. development proceeds from toe to head.

4. development proceeds from extremities to the centre.

Question Number : 2 Question Id : 50521227414 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 50521227415 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Thought becomes abstract and idealistic during the period of -
Options:

1. Infancy

2. Early childhood

3. Middle childhood

4. Adolescence

Question Number : 3 Question Id : 50521227415 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 50521227416 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rearranging schemas, linking them with other schemas to create a strongly interconnected

cognitive system in Piaget's theory is referred to as
Options :
1. Assimilation.

2. Accommodation.



3. Organization.

4. Maturation.

Question Number : 4 Question Id : 50521227416 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 50521227417 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children in stage can solve problems mentally but the problems themselves have to

be related to materials and not symbols.
Options :

1. formal operational

2. concrete operational

3. sensori - motor

4. pre-operational

Question Number : 5 Question Id : 50521227417 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 50521227418 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Socio-constructivist theorist consider the child as -
Options :

1. a blank slate

2. passive recipients of knowledge

3. active beings involved in creation of knowledge.

4. miniature adults.

Question Number : 6 Question Id : 50521227418 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 50521227419 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Encouraging dialogue among students and providing scaffolding are examples of -
Options :

1. creating a zone of proximal development.

2. conditioning of responses.

3. positive reinforcement.

4. transfer of learning.

Question Number : 7 Question Id : 50521227419 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 50521227420 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who proposed that new knowledge is constructed is a zone between what the child knows and

what she is capable of knowing with support?
Options :

1. Lev Vygotsky

2. Jean Piaget

3. Howard Gardner

4. Ivan Pavlov

Question Number : 8 Question Id : 50521227420 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 50521227421 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these situations is illustrative of a child-centred classroom?

Options :

1. A class in which the students are sitting in groups and the teacher takes turns to go to each
group.

2. A class in which the behaviour of students is governed by the rewards and punishment the

teacher would give them.
3. A class in which the teacher dictates and the students are asked to memorise the notes.

4. A class in which the students do whatever they want while the teacher watches them silently.

Question Number : 9 Question Id : 50521227421 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 50521227422 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The idea of ideal reciprocity as exhibited in the Golden Rule is the key characteristics of which



stage of moral development according to Kohlberg?
Options:

1. Social order orientation

2. Social contract orientation

3. Universal ethical principles

4. Good boy- good girl orientation

Question Number : 10 Question Id : 50521227422 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 50521227423 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Intelligence is according to Howard Gardner.
Options :

1. a positive change in behaviour

2. a negative change in behaviour

3. the ability to produce original products



4. a set of several distinct abilities

Question Number : 11 Question Id : 50521227423 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 50521227424 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Teachers should follow standardized curriculum, pedagogy and methods of

assessment.

Reason (R) : Educational systems should ignore and dismiss individual differences among the

children.

Options :

1. Both (A) and ( R) are true and ( R) is the correct explanation of (A).

2. Both (A) and ( R) are true but ( R) is not the correct explanation of (A).
3. (A)is true but (R) is false.

4. Both (A) and (R) are false.



Question Number : 12 Question Id : 50521227424 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 50521227425 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Encouraging girls to take up languages and arts and discouraging them to take up mathematics

and science is an example of -
Options :

1. gender equity

2. gender constancy

3. gender discrimination

4. gender empowerment

Question Number : 13 Question Id : 50521227425 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 50521227426 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements correctly describes the relationship between language and

thought as per the socio-constructivist perspective?

Options :

1. Language determines thought.

2. Thought is governed and directed by language.

3. Relationship between language and thought is bi-directional.

4. Language and thought are independent cognitive capabilities.

Question Number : 14 Question Id : 50521227426 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 50521227427 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To ensure focus on ‘assessment for learning’ rather then ‘assessment of learning’ it is important to

include:

(i) Self - assessment

(ii) Peer- assessment

(iii) Quantitative feedback

(iv) Comparisons between students on quantitative parameters
Options :

1. (iii), (iv)

2. (i), (i1), (iii)

3. (ii), (iii), (iv)

4. (i), (ii), (iii), (iv)

Question Number : 15 Question Id : 50521227427 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TG % TR 3 T TG o0 ST T ST 3 T 4 3 3 T, 56 T s e
(i) =77

(i T e

(i o ST

(v) FPTERRS AT F ST T T et

Options :

1 (1i1) (iv)
, () (i (iii)
3. (if) (iii) (iv)

4. (1) (1) (iii) (iv)

Question Number : 16 Question Id : 50521227428 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following practice promotes inclusion in education?
Options :

1. Corporal punishment to students

2. Learning for competitive exams

3. Respect for diversity

4. Standardized curriculum

Question Number : 16 Question Id : 50521227428 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 50521227429 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following disability causes challenges in paying attention and sustaining long

duration involvement in tasks?

Options :

1. Attention Deficit Hyperactivity Disorder
2. Dysgraphia

3. Dyslexia

4. Visual Impairment

Question Number : 17 Question Id : 50521227429 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 50521227430 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a class having learners from various linguistics identities, a teacher should practice:
Options:

1. Multilingualism

2. Segregation

3. Labelling

4. Stereotyping

Question Number : 18 Question Id : 50521227430 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 50521227431 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Use of multimedia for communication will help inclusion of:

(i) students with intellectual difficulties

(i) students with giftedness

(iii) students with Autism

(iv) students with Dyslexia
Options :

1. (i)

2. (i), (iii)

3. (i), (ii), (iv)

4. (i), (i), (iii), (iv)

Question Number : 19 Question Id : 50521227431 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 50521227432 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of appropriate accommodation strategy for

inclusion of students with specific disability?

Options :

1. Dyscalculia: Prohibition of use of calculator

2. Dyslexia: Giving long essays to be written

3. Visual impairment: Providing read-to-text software

4. Autism: Increasing visual overload

Question Number : 20 Question Id : 50521227432 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 50521227433 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following does not facilitate students’ thinking?
Options :

1. Active involvement

2. Meaningful activities

3. Passive listening

4. Social participation

Question Number : 21 Question Id : 50521227433 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 50521227434 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
opportunity of hands-on activities is likely to learning among students.

Options :



1. Avoiding, improve
2. Facilitating, improve
3. Presenting, stagnate

4. Preventing, enhance

Question Number : 22 Question Id : 50521227434 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 50521227435 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct in context of learning?

Options:

1. Students learn best when they participate in activities that are related to their context

2. Students learn best when they participate in activities that are not related to their context
3. Students learn best when they participate in meaningless activities

4. Students learn best when they participate in mechanical activities



Question Number : 23 Question Id : 50521227435 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 50521227436 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While introducing a new topic, a teacher should ask questions which:
Options :

1. are from the domains completely unfamiliar from students.

2. are much beyond their cognitive abilities.

3. has not relation with the topic to be taught.

4. relates the topic to be studied with what students already know.

Question Number : 24 Question Id : 50521227436 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 50521227437 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Socio-cultural context of students:

Options:

1. has minimal role in the learning process

2. has norole in the learning process

3. plays a significant role in the learning process

4. should be ignored in the learning process

Question Number : 25 Question Id : 50521227437 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 50521227438 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher intends to facilitate reflective skills among her students. This can be done by:
Options :

1. Asking students to copy the content written on board.

2. Encouraging students to ask themselves questions about their understanding.

3. Giving a passage to students for rote - memorization.

4. Shaping the students’ behaviour using stimulus -response associations.

Question Number : 26 Question Id : 50521227438 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 147 1 T 0 T 5 1 o e e o el T 0T 21 0 o7, 8 o o ey
Options :

| TR o e Forh w6 e e R

Y e =,

, BT T AT T9 F qN H TS ut\@:i ; ForT greaTEe T =

- = e W + = ~
3. ST I TEA-ATE Tl 5 190, T &1 =My

, '#mﬁW-gﬁwmmagT%ﬂ mt-—llﬂl%@l



Question Number : 27 Question Id : 50521227439 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher should:

Options :

1. discourage students to identify their errors themselves
2. ignore misconceptions carried by students

3. strengthen students’ misconceptions.

4. scaffold students to correct their errors themselves.

Question Number : 27 Question Id : 50521227439 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 50521227440 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student is felling very nervous and having high anxiety before the exam. His emotional state is

likely to



Options :

1. cause internal motivation for performance.
2. have no impact on his performance in exam.
3. improve his performance in exam.

4. negativity impact his performance in exam.

Question Number : 28 Question Id : 50521227440 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 50521227441 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of following is a correctly matched pair of a source of motivation and the type of

motivation?

Options:

1. Curiosity - Intrinsic motivation

2. Appreciation from peers - Intrinsic motivation

3. Praise of teacher - Intrinsic motivation



4. Trophy in match - Intrinsic motivation

Question Number : 29 Question Id : 50521227441 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 50521227442 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will not facilitate understanding of a concept?
Options :

1. Asking students to copy the answers from the notes given by teacher.
2. Asking students to explain that concept in their own words.

3. Asking students to frame principles from specific examples.

4. Asking students to generate analogies between different conditions.

Question Number : 30 Question Id : 50521227442 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 50521227443 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The sum of the LCM and HCF of 198, 135 and 108 is
Options :
1. 2979

5> 3966

3. 5949

4. 4464

Question Number : 31 Question Id : 50521227443 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
198, 135 3R 108 % LCM AT HCF =1 I 2:

Options :
1. 2979

5 3966

3. 5949

4. 4464

Question Number : 32 Question Id : 50521227444 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The value of
v450 <125
V338 245 ©°

Options :



14
13
21

91
4. 75

Question Number : 32 Question Id : 50521227444 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 50521227445 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

5 3
fa=— andb=-,
11 7

then (a+b) 21X (a* +b1)isequal to

Options :
15
1. 77

68

15
3, 68

77

Question Number : 33 Question Id : 50521227445 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
afra=— shrb=> 4 (a +b)! x (a7 +b7L) wmwd
Options :
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>, 15



15
63

77
4. 15

Question Number : 34 Question Id : 50521227446 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is/are NOT true about natural numbers?
(a) Every prime number is an odd number.

(b) All even numbers are composite numbers.

(c) The sum of two prime numbers is always an even number.

(d) If an even number is divided by 2, the quotient is always odd.

Options :
1. Only (c)
2. Only (d)

3. All(a), (b), (c) and (d}

4. Only (a) and (d)

Question Number : 34 Question Id : 50521227446 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Fefers & & H-91/ FY T SETeT & 91 5 90 T8 2787
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Options :
. F ()

=

, = (d)

3 T (a), (b), (c) 3 (d)

, A (a) AR (d)

Question Number : 35 Question Id : 50521227447 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement:

Options :

1. Forany two integers, aand b, a X (— b) is always negative.
o Difference of two negative integers cannot be positive.

3. Product of a negative integer with another negative integer will give an integer smaller than both the integers.

4. Product of a negative integer with a positive integer will be an integer less than 0.

Question Number : 35 Question Id : 50521227447 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TET e T UEEE I

Options :

. %ETW& ﬁ?b%‘ﬁ%ﬂt, ax(— b}ﬁ?W%ﬁT%ﬁ

, 31 TS UITaRT 3T ST STHTeTs T2 1 2 9T 2|

; T ST U 7 U &7 T QO & U T3 T Tk T e, 311 Q0T & 2t 2

4 qujﬁaﬁ?umHﬂlrﬂ%@?ﬁawigummﬂ 0 ¥ BT =

Question Number : 36 Question Id : 50521227448 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The area of a rhombus shaped field is 5880 m* and of its diagonal is 70 m. What is the side (in m) of the field?
Options :

1. 84

3. 63

Question Number : 36 Question Id : 50521227448 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

TR TR G 7 G4 5580”2 T S0 U T 70 1 A0 2| A 1 ¥ AW (1 )
N

Options :

1. 84

Question Number : 37 Question Id : 50521227449 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The area of a square with side xunits is double the area of a triangle with base xunits. Then, the altitude of the
triangle is

Options:

X ;
— units

1. 2
2. Xunits
3. 2xunits

4. 4xunits

Question Number : 37 Question Id : 50521227449 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T TS AT a7 4Pt ST T TR TS 3 6 71 G 2] 7, Pt 1 9 -
Options :
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1. 2

r
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Question Number : 38 Question Id : 50521227450 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The total surface area of a solid right circular cylinder is 3.52m* and the radius of its base is 0.35 m.

The height of the cylinder is (Take m = 27—2 )

Options :

5
= m
1. 4

d= | =] ta |
3

Bd |~
=

Question Number : 38 Question Id : 50521227450 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tt 36 A g e 7 9 QA 6 3.5 m” 2 T TR ST o .35 m B 7 1 g
. 22

UK (T[:7 G IHEU.]

Options :

5
= m
4

= m
4

m

b | =~

Question Number : 39 Question Id : 50521227451 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Numbers 12, 13, 14, ....., 40, 41 are written on different slips, one number on one slip. These slips are put into a bag.
Radha takes out one slip from the bag without looking into the hag. What is the probability that the slip drawn by her
is NOT a prime number?

Options :
4

11
3. 15



23
4. 30

Question Number : 39 Question Id : 50521227451 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

VR TR W 12,13, 14, .........., 40, 41 Torelt et 2] 528 et o o 0 v o T ) 9 et
A I S T R T E I 0 R T o 2R v O e | e e e e e
oot 78 O O e T e R 27

Options:

4

11

23
2. 30

Question Number : 40 Question Id : 50521227452 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The mean of some observations is 54. If each observation is increased by 8 and its sum is divided by 2, then what is the
mean of the resulting observations?

Options :



3. 35

Question Number : 40 Question Id : 50521227452 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o7 T 9 1A $4 21 7 e oA 3 § g 5 TR A 2 8 e e, o e e
T

Options:

1. 27

w
%)
A

Question Number : 41 Question Id : 50521227453 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the product of 9x% + 4y? , 3x+2yand 3x — 2y?

Options :

1 18x* +16y*



5, 27x* —64y*

3 81x* +16y*

4 4
4 81x 16y

Question Number : 41 Question Id : 50521227453 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

9?{_'«‘ 5 4}_,.—’:'.. 3x+2y chIEy 3% = E}WW%
Options:
. 18x*+16y"

27x* — 64y"

2
4 4
3 81x"+ 16y
4__ yed
4 81X 16y

Question Number : 42 Question Id : 50521227454 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

a’— b%+ a(a+b)
a(a—b)+ b(a—b) '

a=hb, is equal to

Options:
a—2b
1. a—b




2a—b
2. a+b

2a—b

a—2?b
4. a+b

Question Number : 42 Question Id : 50521227454 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
a’—b?+a(a+b)

MW a%b, TR E:
Options :
a— 2b
1. a—b
Za— Db
>, a+b
2a— b
3. a—b
a— 2b
. @FD

Question Number : 43 Question Id : 50521227455 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

y—1 y— 2 Sy+7
ity — T = ] T : then what is the value of L2

?

Options:
1
3 —

1. 2

Question Number : 43 Question Id : 50521227455 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o | —2Z & 5 BYyET
Iy — }’T:]_ YT%HT YE FT AN E:

Options :
¥
3_

1. 2

Question Number : 44 Question Id : 50521227456 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Subtracting X = X~= 19 from the sum of 3x° = 8x + 11 and — 67+ 12x + 17, we get
Options:
1 4% +5x+9
s
2 4X" — dx+47
3. —4X+5x— 9
4 —4x2+5x+47

Question Number : 44 Question Id : 50521227456 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

37 = 8x+ 11 F9T —6x°+ 12x + 1THIMIF x° - x— |9 F A T, 24 WH T 2
Options :

1, 4xT+5x+9

2. 4X° = 5x+47

3. — 4 +5x— 9

4. — 4x% + 5x + 47

Question Number : 45 Question Id : 50521227457 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
The selling price of a toy is X 1020. If the profit made by the shopkeeper is 20%, then the cost price of the toy is

Options :

1. 720

> X750

3 2800

4 850

Question Number : 45 Question Id : 50521227457 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e gert 1 o e 1020 7 | 3T TR 1 20% 71 A0 T 2147 €, 1 e 1 70 e 2

Options :
1. 720

5 750
3. 800

4. 3850

Question Number : 46 Question Id : 50521227458 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following triangle(s) has/have no line of symmetry?

Options:



1 Equilateral triangle only
o lsosceles triangle only
3 Scalene triangle only

4. Both Scalene triangle and isosceles triangle

Question Number : 46 Question Id : 50521227458 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frefefea & & fore frget o =€ wmfore v = et 20
Options :

2 .
3 hded [d9HHIT %ﬂ\nél

, TEeEETE B ot wmizeg e

Question Number : 47 Question Id : 50521227459 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ABCD is a rhombus in which £ BAC=50°, then 3 £D — 2 £ DAC is equal to
Options:

1. 120°



> 140°
3. 150°

4 160°

Question Number : 47 Question Id : 50521227459 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ABCD % =4 &, fed LBAC =50°

7w, 34D — 24DAC susR 2:
Options :

1.120°
5 140°
3 150°

4 160°

Question Number : 48 Question Id : 50521227460 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ABC and DBC are two triangles formed on the same base BC and on the same side of it. IF AC=DB and AB=DC, then
which of the following is correct?

Options:
1. AABC = ACEBD



5 AABC

112

ADCB

3. AABC

II¢

ADBC

4 AABC = ABCD

Question Number : 48 Question Id : 50521227460 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ABC 3t DBC T TR BC T 741 3009 T € 41 & a1 e €1 3¢ AC = DB &fit AB=DC 2,
Fyeafeia 3 & 77 e 27
Options :

1. AABC = ACBD

|12

.. AABC = ADCB

3. AABC

|12

ADBC

4. AABC

|12

ABCD

Question Number : 49 Question Id : 50521227461 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Side BC of a triangle ABC is produced to a point D. If £ A=40° and AC=BC, then 2 £ ACD=3 £ B is equal to

Options :
1. 280°

5> 260°



3. 2407

4 220°

Question Number : 49 Question Id : 50521227461 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
foref P ABC #1 9T BC A DA A A 2 7t LA = 40° sfwAC=BCE A2

LACD + 34B T 2:

Options :
1. 280°

5 260°
3 240°

ST

Question Number : 50 Question Id : 50521227462 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sum of the two vertically opposite angles xand yis 80°. If Z is the complement of angle y, then 3x - y+zisequal to
Options:
1. 110°

5> 120°

3 130°



4 150°

Question Number : 50 Question Id : 50521227462 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬁﬁﬂ%ﬁﬂ'@ﬁﬁxﬁ?yﬁﬁmmo %M‘%zﬁﬂyﬁi@%ﬁwx— }-’-I-ZW%:
Options:

1.110°

5 120°
3 130°

4 150°

Question Number : 51 Question Id : 50521227463 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following statements is NOT true about the five steps of the Mathematisation?
Options :

1. ldentifying the real problem in the context.

2. Memorising an algorithm.

3. Solving meaningful mathematical problems.

4. Making sense of mathematical solutions in real life.



Question Number : 51 Question Id : 50521227463 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

feAfefias o & #1991 32 0T 0T 3 U1 =0T o o1 3 9ed 721 2
Options :

1 TN T IR T i U T

5 THATTSTE Tl FEOT ST

4 AT SIGT T TOTE TS TSTeT 37 95 a9

Question Number : 52 Question Id : 50521227464 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mathematical concepts form a complex web of connections in which new concepts and previously learnt concepts are
inter connected.
Which of the following statements most appropriately describes this?

Options :
1 Fraction must be taught before whole numbers
o Multiplication and division must precede addition and subtraction

3. Number concepts and patterns are building blocks to algebraic thinking

4. Proportional Reasoning does not involve algebraic thinking



Question Number : 52 Question Id : 50521227464 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TV RO 3 et el 1 T ST & 17 73 SO i 0 ¥ STl T e ey 81
ik

3T 5 6 0.8 5 8 0 SO A e )

Options :

Tt =91 Ut St & wEe ugre S =
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Question Number : 53 Question Id : 50521227465 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is indicative of mathematics classroom based on Social Constructivist framework?
Options:

1. Ateacher demonstrating the use of dienes block.

2. Students responding to a quiz by raising hands.

3. Students working independently with Geoboards.

4 Students working in collaboration on a project.



Question Number : 53 Question Id : 50521227465 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Trefofs & & 7 ST AT ST U ST T e i ey w2
Options:

| TSI =T ST T AN T @ B

, Teremeff ver w3 o w19 SR TR A A
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Question Number : 54 Question Id : 50521227466 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A teacher poses the following problem of algebra to her class:

7 g 3
"Does the graph X =V~ ever intersect the graph of X =y~ +2? What are the different ways you would use to test your

\
conjecture? Would your conjecture hold true for other equations of the form x =y~ + b."

Which of the following statement/statements is/are correct in the given context?

(a) One of the learning outcomes of posing this question is comparison and analysis of quadratic equations.
(b) Teacher should focus only on getting the solution that the two graphs will not intersect.

(c) The teacher can assess the reasoning skills of students.

(d) Such questions confuse the students and hence should be discouraged in a mathematics classroom.
Choose the correct option:-

Options:
1. (a) and (c)

2. only (d)



3. only (b)

4. (a)and (b)

Question Number : 54 Question Id : 50521227466 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T TR ST P 2 W IS 21 A e e 2

"\

T =y I (ATE) Tl x =y + 2 3 T (4T 2 W70 0 ) 0 0 S () 1

i for e T 9 3 e 30 9 ST Rkl (), § = 3,-'3 + b T F 7 T F
>
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() 74 1 T 0 AT 7 7 8 T T T 6 e o
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(d) T 74 T 8 T e A ST 3+ I 351 3 H Eeed e e
e e

Options :

(a) 3R (c)

1

, T (d)

-

, e (b)

(a) 3R (b)

4.

Question Number : 55 Question Id : 50521227467 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For assessing the performance of students in mathematics over a period of time, Mr. Raju has collected exemplary
works of his class VIII students which includes assignments, project reports, homework, models, unit tests and class
tests etc. The assessment strategy used by Mr. Raju is a

Options :

1. Cumulative reward.
2. Anecdotal reward.
3. Portfolio.

4. Rubrics.

Question Number : 55 Question Id : 50521227467 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T F e % o, T % TR YW 1 e 0 3 (e, 7T 97 e § S0 97 6 2 v
A T BT S AT 2

Options :

1. W SATeE

5, SURSHHTTF @



Question Number : 56 Question Id : 50521227468 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The definition "Mathematics is a way to settle in the mind, a habit of reasoning” is given by

Options :

1. Locke
2. Galileo
3. Bruner

4. Napolean

Question Number : 56 Question Id : 50521227468 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TS, TR, 77 T 281 7 3 e 3 5 A U O 2 R

Options:

-

1. ©Ieh

ARUEE

Question Number : 57 Question Id : 50521227469 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

While making a lesson plan on introducing Data handling, a middle school mathematics teacher thought of formulating
a four-step process for Data handling.

The four-steps are given in random order.

(a) Collecting the data

(b) Interpreting the results

(c) Formulating the questions

(d) Analysing the data

Which of the following represents the correct order of process?

Options :
1 (@), (©), (d), (b)
5 (c), (d), (a), (b)

5. (@), (a), (d), (b)

4. (a), (d), (b), (c)

Question Number : 57 Question Id : 50521227469 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T T FraTerd 5 0T 2 S50 = A7 o T O U3 T 8T 20 A7) o Yo o ol =T &1
ST 1 G o | 7 T 0 A 7 A 1 0

() FERE) 1 R

(b) ATERET o1 TG A T o Wi

(o) 74 1 g

(d)oFET s
90 0 0 T e 0 T 3 ) A T e 2
Options :
1. (@), (c), (d). (b)

5. (€), (d), (a), (b)



3 (), (a), (d), (b)

4. (3), (d), (b). (¢)

Question Number : 58 Question Id : 50521227470 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

After teaching the topic "Congruence of 2D figures", a middle school teacher starts a discussion with the students to
assess their understanding of the topic. During the discussion, one of the students said, 'Two regions having same area
are also congruent',

Which of the following statements is correct with respect to student's response?

Options :

1. Student's generalisation is correct.
2. Student's generalisation is correct for quadrilaterals.
3 Such responses need to be ignored by the teacher.

4. Student's misconception needs to be addressed by the teacher.

Question Number : 58 Question Id : 50521227470 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tyt (2-:@[) aliﬂfﬁq\iﬁﬂd?wum T E T E T e ST ELD %Hﬁﬁ%ﬂﬁ‘fﬁm
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Options :
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Question Number : 59 Question Id : 50521227471 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching in a mathematics class, a teacher gives the statement "Common Divisor of two integers is a number
which divides both the given integers". The statement is a

Options :

1. Proposition
2. Definition
3. Axiom

4 Open sentence

Question Number : 59 Question Id : 50521227471 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T T 61 T3 T ST e 1 QTR 1 el ST () 3% S 1 F 3 fem
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Options :
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Question Number : 60 Question Id : 50521227472 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher folds a square sheet of paper into half and punches a hole in the folded sheet of paper. She then unfolds the
paper. Which of the following topics she can teach with this activity?

Options :

1. Symmetry and volume

2. Volume and fraction

3. Symmetry and fraction

4 Surface area of a square

Question Number : 60 Question Id : 50521227472 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tt o e T 35 2 8 AT e 2 S 99 93 20 6 5 O 9% 21 O 9 A
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Options :
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Question Number : 61 Question Id : 50521227473 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following are characteristic features of trees in mountain range?
A) sloping branches

B) needle like leaves

C) waxy, thick stem

D) long penetrating roots

Options :
1. A&B
2 B&C

3. C&D

4. A&C

Question Number : 61 Question Id : 50521227473 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 50521227474 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct option

Assertion: Water boils easily at low altitude regions like sea shore.
Reason: Atmospheric pressure is less at lower altitudes.

Options :
1 Both Assertion and Reason are correct and Reason is the correct explanation of Assertion.
2 Both Assertion and Reason are correct but Reason is not the correct explanation of the Assertion.

3. Assertion is correct but Reason is false.

4. Both Assertions and Reason are false.



Question Number : 62 Question Id : 50521227474 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 50521227475 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is true when a ray of light travels from air into oil?
Options :

1. The speed of light decreases and the ray bends towards the normal.

2. The speed of light increases and the ray bends away from the normal.

3. The speed of light increases and the ray bends towards the normal.

4. The speed of light decreases and the ray bends away from the normal.



Question Number : 63 Question Id : 50521227475 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TAT W I F 71 A AT TehTaT 3Ry Toh0T o ToA0 9 § & -9 o 9 27
Options :
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Question Number : 64 Question Id : 50521227476 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following represents set of contact forces?
Options :

1 electrostatic force, force of friction, magnetic force

o muscular force, force of friction, gravitational force

3 drag, muscular force, force of friction

4. gravitational force, electrostatic force, drag

Question Number : 64 Question Id : 50521227476 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

7 0 | F 99T, §UF a7 F =4 T AT 27

Options :
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Question Number : 65 Question Id : 50521227477 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A magnet is broken into two pieces. If these two pieces are brought closer to each other, they will
Options :

1. attract each other.

2 repel each other.

3. Mmay attract or repel.

4. neither attract nor repel.

Question Number : 65 Question Id : 50521227477 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 50521227478 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

During a class experiment, a teacher took two objects and immersed them in water. She recorded the readings using a
spring balance as shown below:

Object | Wt.of Stone | Wt. of Stone | Weightof | Buoyant
in Air in Water Liquid Force acting
(Newton) | (Newton) | Displaced | onhody
(Newton) | (Newton)
A 92 X 16 i§
B Q 10 Z 10

Which of the following is corract?

Options :

| X-108,Y-108, Z-10, Q-80

> X%-108, Y¥-16, Z-80, Q-80

3. %76, Y-16, Z-10, Q-80




4. %76,Y-16, 7-80, Q-10

Question Number : 66 Question Id : 50521227478 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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A 92 X 16 Y

B Q 70 7 10
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Options :

1 X—108,Y —108,Z-10,Q—80

5 X—108,Y-16,Z-80,Q-80

3 X-76,Y-16,Z2-10,Q-80

4 X—76,Y-16,2-80,Q-10

Question Number : 67 Question Id : 50521227479 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Consider the following statements and choose the CORRECT one.

Statement (S1): Rising sun is not considered as an appropriate guide to locate direction in all seasons.
Statement (S2): Point of sunrise changes continuously.

Statement (S3): During Summer Solstice, the point of sunrise shifts towards North.

Statement (54): During Winter Solstice, the point of sunrise shifts towards South.

Options :
1. 51,83

, S1,52
3. 51,52,53

4 $2,53,54

Question Number : 67 Question Id : 50521227479 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 50521227480 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

There are three test tubes A, B and C, all having colorless liquid of equal volume and strength. A drop of
Phenolphthalein is added to each of them. It is observed that test tubes A and B remain colorless while C becomes
pink. When the pink solution of C is added to A and B, it is observed that A remains colorless but B attains pink color.
Which of the following is correct inference?

Options:
1. A=Strong Acid B= Strong Base C= Weak Acid

5 A= Weak Acid B= Strong Acid C= Strong Base
3 A= Strong Acid B= Weak Acid C= Strong Base

4. A=Strong Acid B= Weak Acid C= Weak Base

Question Number : 68 Question Id : 50521227480 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 50521227481 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs can be utilised as acid-base indicator?
Options:

1 Red cabbage leaves and turmeric
2. Salt and turmeric
3 Banana leaves and cabbage leaves

4. Lemon juice and turmeric

Question Number : 69 Question Id : 50521227481 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 50521227482 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rita wanted to store the pickles in a container. The best container for this purpose can be
Options :

1. Aluminium

2. Glass

3. Copper

4, Brass

Question Number : 70 Question Id : 50521227482 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 50521227483 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A material M was heated in a spoon and immediately put in a gas jar and was covered. Small amount of water was
added to the jar and the solution was tested with blue litmus paper. The paper turned red. Material 'M' could be

Options :

1. Sodium
2. Aluminium

3. Magnesium

4. Sulphur

Question Number : 71 Question Id : 50521227483 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 72 Question Id : 50521227484 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose correct option.

Assertion (A) - Cellulose rich food substances are good source of roughage for human beings.
Reason (R1) - Cellulose gets absorbed and converted into fibres during digestion.
Reason (R2) - The cellulose digesting bacteria convert cellulose into fibres.

Options :

1. Alstrue and R1is correct explanation for A
5 A is true and R2 is correct explanation for A

3. Alisfalse and R1 is true

4. Ais false and R2 is true

Question Number : 72 Question Id : 50521227484 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 50521227485 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following do not contain any enzymes?
Options :

1. Bile juice
2. Pancreatic juice
3. Gastric juice

4. Salivary juice

Question Number : 73 Question Id : 50521227485 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 50521227486 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Two containers A and B contain 50 gm of ice at 0°c and 50 gm of water at 0°c respectively. If both the containers are
kept in the freezer of a refrigerator and allowed to reach thermal equilibrium, which of the following statements will
be true?

Options :

1. A will lose more heat than B
2. B will lose more heat than A

3. Both A and B will lose equal heat

4. Which of them will lose more heat cannot be determined

Question Number : 74 Question Id : 50521227486 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 50521227487 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The type of joint in elbow of our forelimb undergoes similar movement as of the door joint of the house. Which joint is
this?

Options :

1. Ball and socket joint

2. Pivotal joint

3. Hinge joint

4. Fixed joint

Question Number : 75 Question Id : 50521227487 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TN TETE § SheAT 31 SIS =% 3 SLaTS 3 osl sl Hitd =eiqT 2|
TE F-AT S (|MeT) 22
Options :

:@Jﬁ@%&’rwﬁr

1

, = TR/ ST e

5 T

g, Temsta



Question Number : 76 Question Id : 50521227488 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Deficiency of which vitamin leads to excessive bleeding from a wound?
Options:
1. C

5 Bcom plex

Question Number : 76 Question Id : 50521227488 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. C

Question Number : 77 Question Id : 50521227489 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Light enters from air into the following media successively and finally emerges.

Medium Refractive Index
A 15

B 1.26

§ 1.33

D 1.0

E 2.0

Which of the following is the correct sequence about the change in the velocity of light?
Options :

1. decrease, increase, decrease, increase, decrease, increase

2 increase, decrease, increase, decrease, increase, decrease

3 decrease, increase, increase, decrease, increase, decrease

4. increase, decrease, increase, increase, decrease, increase

Question Number : 77 Question Id : 50521227489 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 50521227490 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the correct answer to explain the mechanism of inhalation during breathing in human beings?
Options :

1. Air moves in, Ribs move in and Diaphragm moves down

2 Air moves out, Ribs move out and Diaphragm moves up

3 Air moves out, Ribs move out and Diaphragm moves down

4. Air moves in, Ribs move out and Diaphragm moves down

Question Number : 78 Question Id : 50521227490 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 50521227491 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A man having a blood group A marries a woman with a blood group B. The blood group of their son/daughter could be
Options :
1. Only A

2. Only B

3. Either Aor B

4. Either A, B, O or AB

Question Number : 79 Question Id : 50521227491 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A T 31 et T T 1 [eeTe B T 3 1 el © 7 €] e o o o ST a2 e 7
Options :

| HET A

, FTB

3. A FYST B



4, TATA, B, O 21231 AB

Question Number : 80 Question Id : 50521227492 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose correct option.

Assertion (A) - We hear a louder sound when a table is hit hard than when we hit it softly.
Reason (R1) - Loud sound can travel large distance as it is associated with higher energy.
Reason (R2) - Loud sound has more frequency than soft sound

Options:

1. Both R1 and R2 are correct and R2 is correct explanation for A
2. Both R1 and R2 are correct and R1 is correct explanation for A
3. Only R1 is true and correct explanation for A

4 Only R2 is true and correct explanation for A

Question Number : 80 Question Id : 50521227492 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 50521227493 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the National Curriculum Framework( NCF)-2005, which of the following is not an objective of science
teaching at the upper-primary stage?

Options :

1. Using systematic experimentation as a tool to discover/verify theoretical principles.
2 Learning concepts of science through familiar experience.
3 Working with hands to design simple technological units and modules.

4. Doing activities and experiments to arrive at scienftific concepts.

Question Number : 81 Question Id : 50521227493 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 50521227494 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most accurate description of scientific laws?
Options :

1. Scientific laws are descriptions of the relationships between observable phenomena.
2. Scientific laws are products of strong scientific theories.
3. Scientific laws have a higher status than scientific theories.

4 Scientific theories are more legitimate products of science than scientific laws.

Question Number : 82 Question Id : 50521227494 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 50521227495 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher poses the following question to her class VIl students.

"Which is heavier - 1 Kg of cotton or 1 Kg of iron"?

She finds that a large number of students think that 1 Kg of iron is heavier than 1 Kg of cotton. Which of the following
strategies would be the least useful in addressing this idea?

Options:
1. Defining the concept of density

2. Demonstration of the equivalence of the two by scales
3. Providing opportunity to handle & weigh cotton balls and iron blocks of different sizes

4 Explanation of the difference between heaviness and density

Question Number : 83 Question Id : 50521227495 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 50521227496 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Research tells us that children come to formal science learning with many prior ideas that do not match with the
scientific explanations. Which of the following is NOT true in respect of these ideas?

Options :

1. They are based on everyday experiences
2. They can be easily changed
3. They influence children's school learning

4. Even adults can hold these ideas

Question Number : 84 Question Id : 50521227496 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 50521227497 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What, according to social constructivism, is the most crucial teaching strategy for helping students construct a
meaningful understanding of science?

Options :

1. Frequently conducting activities for students using activity guides
2 Asking students to prepare models to demonstrate scientific ideas
3 Encouraging students to solve good number of numerical problems

4. Helping students in talking, thinking, arguing and writing about science

Question Number : 85 Question Id : 50521227497 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 50521227498 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following would be least helpful for assessing the thought processes or ideas of science learners?

Options:
1. Asking students to prepare a chart/poster for exhibition/display

) Posing questions to students in a one-on-one conversation

3. Interviewing students intensively

4. Asking students to depict their thought processes through concept-maps/diagrams/sketches

Question Number : 86 Question Id : 50521227498 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 50521227499 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is best suited for testing a hypothesis in science?
Options:

1. Observation
2. Experimentation
3. Group Discussion

4. Problem Solving

Question Number : 87 Question Id : 50521227499 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 50521227500 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student says that substances such as flour and salt are ‘liquid” because they take the shape of the container in which
they are put. What would be your response to the student's claim?

Options :

A material that is 'liquid" has no fixed shape, it takes the shape of the container it is poured into. So, salt and flour are
liquids.
1.

They are solids because even though a whole mass of tiny grains of flour or salt does not have a definite shape, each
2. individual grain does.

3. Flour and salt are not liquids because they do not exhibit the wetting property but they are fluids because they 'flow’.

4 The definition of a 'solid" is incomplete as it does not accommodate substances such as flour and salt.

Question Number : 88 Question Id : 50521227500 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 50521227501 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following strategies can provide the most meaningful clarification on the concept of scattering of light?
Options:
1. Chart showing a scattering of light

2. Animated video showing scattering of light
3. Observing scattering of light on a colloidal solution by the learners

4. Focus group discussion

Question Number : 89 Question Id : 50521227501 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 50521227502 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a characteristic of a constructivist science classroom?
Options :

1. Students discussing various ways of solving a numerical problem
o Teacher ignoring students’ erroneous responses
3 Teacher listening to students' conversations during a field trip

4. Students planning for an investigation

Question Number : 90 Question Id : 50521227502 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Read the passage given below and answer the question /complete
the statement that follow by choosing the correct options from the
given ones.

1) Cycling to work may seem the healthy options, but a study
has shown that people riding in cities inhale tens of millions of
toxic nanoparticles with every breath, at least five times more
than drivers or pedestrians.

2) The research showed that urban concentrations of
nanoparticles, which measure just a few millions of a
millimetre, could reach several hundred thousand in a cubic
centimetre of air. The particles, when inhaled, have been
linked to heart disease and respiratory problems.

3) Because they are exerting themselves, cyclists breathe harder
and faster than other road users. The study found that they
suck in about 1,000 cubic cm with each breath, meaning they
may inhale tens of millions of particles each time they fill their
lungs, and billions during a whole journey.

4) “This is the first time anyone has counted the particles while
also measuring people’s breathing during city commuting. It
showed that cyclists can inhale an astonishing number of
pollutant particles in one journey.

5) For the research, Int Panis and his colleagues asked cyclists to
pedal while wearing a mask fitted with instruments that could
count the particulates, as the particles are known.

6) The researchers found that in Brussels the cyclists inhaled
5.58 million nanoparticles for every metre cycled, dropping to
1.1 million when they tried the experiment in Mol, a smaller
town in Belgium. They also found that the cyclists inhaled 4.5
times more particles than a car passenger driven along the
same route.

Sub questions

Question Number : 91 Question Id : 50521227504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Why is ‘cycling to work’ not a healthy option?

1) Itis time consuming.

2) Itisvery tiring.

3) A cyclist inhales toxic nanoparticles.

4) It is not safe because of heavy traffic on the road.

Options :



1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 50521227505 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Cyclists are more prone to respiratory problems because
they:

1) are on the road for long stretches of time.

2) are most of the time not commuting in the cities.
3) are inhaling plenty of pollutant particles.

4) they are not wearing a mask.

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521227506 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements.
A) Nano particles are very small in size.
B) Nano particles travel very fast.
C) Nano particles can cause a fatal disease like cancer.

Choose the correct option from the following
1) A and B are true but Cis false
2) A and B are false but Cis true
3) A and C are true but B is false
4) B and C are true but A is false

Options :

1.1



2.2
3.3
4.4

Question Number : 94 Question Id : 50521227507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The pollutant particles present in air can cause diseases,
likes

1) thyroid

2) pneumonia
3) heart disease
4) diabetes

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521227508 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with correct option that follows:
Nano particles are in proportion to the size
of the town.

1) direct
2) inverse
3) equal
4) adverse

Options :
1.1
2.2
3.3



4.4

Question Number : 96 Question Id : 50521227509 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Nano particles are

1) quite big in size
2) transparent

3) very small in size
4) opagque

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521227510 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Commuting’ means as used in the passage.

1) travelling from one place to another
2) compensating for one’s sins

3) to make a punishment less severe
4) to substitute one thing for another

Options:
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521227511 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

‘people riding in cities inhale’ .......
The underlined word is a/an

MNoun
Adverb
Adjective
4. Preposition

il v

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521227512 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘that count the particulates’
The underlined word is a

Noun

Verb
Adjective

4. Conjunction

ol v

Options:
1.1
2.2
3.3

4.4

Question Id : 50521227503 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the question /complete
the statement that follow by choosing the correct options from the
given ones.

1) Cycling to work may seem the healthy options, but a study
has shown that people riding in cities inhale tens of millions of
toxic nanoparticles with every breath, at least five times more
than drivers or pedestrians.

2) The research showed that urban concentrations of
nanoparticles, which measure just a few millions of a
millimetre, could reach several hundred thousand in a cubic
centimetre of air. The particles, when inhaled, have been
linked to heart disease and respiratory problems.

3) Because they are exerting themselves, cyclists breathe harder
and faster than other road users. The study found that they
suck in about 1,000 cubic cm with each breath, meaning they
may inhale tens of millions of particles each time they fill their
lungs, and billions during a whole journey.

4) “This is the first time anyone has counted the particles while
also measuring people’s breathing during city commuting. It
showed that cyclists can inhale an astonishing number of
pollutant particles in one journey.

5) For the research, Int Panis and his colleagues asked cyclists to
pedal while wearing a mask fitted with instruments that could
count the particulates, as the particles are known.

6) The researchers found that in Brussels the cyclists inhaled
5.58 million nanoparticles for every metre cycled, dropping to
1.1 million when they tried the experiment in Mol, a smaller
town in Belgium. They also found that the cyclists inhaled 4.5
times more particles than a car passenger driven along the
same route.

Sub questions

Question Number : 91 Question Id : 50521227504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Why is ‘cycling to work’ not a healthy option?

1) Itis time consuming.

2) Itisvery tiring.

3) A cyclist inhales toxic nanoparticles.

4) It is not safe because of heavy traffic on the road.

Options :



1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 50521227505 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Cyclists are more prone to respiratory problems because
they:

1) are on the road for long stretches of time.

2) are most of the time not commuting in the cities.
3) are inhaling plenty of pollutant particles.

4) they are not wearing a mask.

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521227506 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements.
A) Nano particles are very small in size.
B) Nano particles travel very fast.
C) Nano particles can cause a fatal disease like cancer.

Choose the correct option from the following
1) A and B are true but Cis false
2) A and B are false but Cis true
3) A and C are true but B is false
4) B and C are true but A is false

Options :

1.1



2.2
3.3
4.4

Question Number : 94 Question Id : 50521227507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The pollutant particles present in air can cause diseases,
likes

1) thyroid

2) pneumonia
3) heart disease
4) diabetes

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521227508 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with correct option that follows:
Nano particles are in proportion to the size
of the town.

1) direct
2) inverse
3) equal
4) adverse

Options :
1.1
2.2
3.3



4.4

Question Number : 96 Question Id : 50521227509 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Nano particles are

1) quite big in size
2) transparent

3) very small in size
4) opagque

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521227510 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Commuting’ means as used in the passage.

1) travelling from one place to another
2) compensating for one’s sins

3) to make a punishment less severe
4) to substitute one thing for another

Options:
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521227511 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

‘people riding in cities inhale’ .......
The underlined word is a/an

MNoun
Adverb
Adjective
4. Preposition

il v

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521227512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘that count the particulates’
The underlined word is a

Noun

Verb
Adjective

4. Conjunction

ol v

Options:

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 5052121584

Question Shuffling Allowed : Yes

Question Id : 50521227513 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No



Question Numbers : (100 to 105)

Question Label : Comprehension

Read the poem given below and answer the question/complete the

statements that follow by choosing the correct options from the
given ones.

1 there lived a sage in days of yore,
And he a handsome pigtail wore;
But wondered much and sorrowed more
4 Because it hung behind him.
He mused upon this curious case,
And have it hanging at his face,
And have it hanging at his face,
8 Not dangling there behind him.
Says he, “The mystery I've found-
I’ll turn me round” -
He turned him round;
12  Butstill it hung behind him.
Then round, and round, and out and in,
All day the puzzled sage did spin;
In vain—it mattered not a pin—
16  The pigtail hung behind him.
And right, and left, and round about,
And up, and down, and in, and ouf,
He turned, but still the pigtail stout
20 Hung steadily behind him.
And though his efforts never slack,
And though he twist, and twirl, and tack,
Alas! still faithful to his back,
24  The pigtail hangs behind him.

Sub questions

Question Number : 100 Question Id : 50521227514 Question Type

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : No



A) The sage was filled with sorrow — Assertion
B) His pigtail hung behind him — Reasoning

Choosing the best option from the following

1) Alistrue but B is false
2) Aisfalse but Bis true
3) Both A and B are true and B is responsible for A
4) Both A and B are false

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 50521227515 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements
A) The sage turned round and round
B) The sage wanted to change the position of his
pigtail.
C) The sage was feeling very thrilled.
Choose the correct option from the following:

1) Ais correct but B and C are false.
2) A and B are correct but C is false.
3) A and C are correct but B is false.
4) Ais false but B and C are correct.

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521227516 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

What mystery is the sage wondering about?
The pigtail ...........

1) is banging his face.

2) is very beautiful.

3) Is hanging behind him always.
4) is very stout.

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521227517 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:

A) The pigtail is very faithful.

B) It hangs behind the sage always.
Choose the correct option from the following:

1) Ais true but B is false
2) Aisfalse but Bis true
3) Both A and B are true and B implies A
4) Both A and B are false

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521227518 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The phrase ‘in vain’ in line 15 means:

without effort
without success
disappointing
frustrating

1
2
3
A

[ R

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521227519 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What part of speech is ‘slack’ in line 217

1) adjective
2) adverb
3) noun

4) verb

Options :
1.1
2.2
3.3
4.4

Question Id : 50521227513 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Read the poem given below and answer the question/complete the
statements that follow by choosing the correct options from the
given ones.

1 there lived a sage in days of yore,
And he a handsome pigtail wore;
But wondered much and sorrowed more
4 Because it hung behind him.
He mused upon this curious case,
And have it hanging at his face,
And have it hanging at his face,
8 Not dangling there behind him.
Says he, “The mystery I've found-
I'll turn me round” —
He turned him round;
12  Butstill it hung behind him.
Then round, and round, and out and in,
All day the puzzled sage did spin;
In vain—it mattered not a pin-
16  The pigtail hung behind him.
And right, and left, and round about,
And up, and down, and in, and out,
He turned, but still the pigtail stout
20 Hung steadily behind him.
And though his efforts never slack,
And though he twist, and twirl, and tack,
Alas! still faithful to his back,
24  The pigtail hangs behind him.

Sub questions

Question Number : 100 Question Id : 50521227514 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A) The sage was filled with sorrow — Assertion
B) His pigtail hung behind him — Reasoning

Choosing the best option from the following

1) Aistrue but B is false
2) Aisfalse but Bis true
3) Both A and B are true and B is responsible for A
4) Both A and B are false



Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 50521227515 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements
A) The sage turned round and round
B) The sage wanted to change the position of his
pigtail.
C) The sage was feeling very thrilled.
Choose the correct option from the following:

1) Ais correct but B and C are false.
2) A and B are correct but C is false.
3) A and C are correct but B is false.
4) Ais false but B and C are correct.

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521227516 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What mystery is the sage wondering about?
The pigtail ...........

1) is banging his face.

2) is very beautiful.

3) Is hanging behind him always.
4) is very stout.



Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521227517 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:

A) The pigtail is very faithful.

B) It hangs behind the sage always.
Choose the correct option from the following:

1) Aistrue but B is false
2) Aisfalse but Bis true
3) Both A and B are true and B implies A
4) Both A and B are false

Options:
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521227518 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The phrase ‘in vain’ in line 15 means:

1) without effort
2) without success
3) disappointing
4) frustrating

Options :

1.1



2.2
3.3
4.4

Question Number : 105 Question Id : 50521227519 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What part of speech is ‘slack’ in line 217

1) adjective
2) adverb
3) noun

4) verb

Options:
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121585

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 50521227520 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a class students are able to absorb the content but they do not participate in the discussion. Which language
difficulty do they have?

1. Communicative
2. Expressive
3. Receptive
4. Pronunciation

Options :
1.1
2.2



3.3
4.4

Question Number : 106 Question Id : 50521227520 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a class students are able to absorb the content but they do not participate in the discussion. Which language
difficulty do they have?

1. Communicative
2. Expressive
3. Receptive
4. Pronunciation

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521227521 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a classroom, the teacher sends message either as words or images. The students are

1. encoders
2. decoders
3. agitators
4, propagators

Options :
1.1
2.2
3.3
4.4



Question Number : 107 Question Id : 50521227521 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a classroom, the teacher sends message either as words or images. The students are

1. encoders
2. decoders
3. agitators
4. propagators

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521227522 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A formative evaluation of student writing

1. requires thorough markings of mechanical errors with a pencil or pen.

2. making comments on the appropriateness of the student’s interpretation of the prompt and the degree to
which the objective was met.

3. should require that the student’s hand in all the materials produced during the process of writing.

4. several careful reading of the text for content, mechanics, spelling, and usage.

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521227522 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A formative evaluation of student writing

1. requires thorough markings of mechanical errors with a pencil or pen.

2. making comments on the appropriateness of the student’s interpretation of the prompt and the degree to
which the objective was met.

3. should require that the student’s hand in all the materials produced during the process of writing.

4, several careful reading of the text for content, mechanics, spelling, and usage.

Options:
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 50521227523 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Children have an internal inborn faculty that help them discover the underlying pattern of the language. Which of the
following approach might be support the statement?

1. Behaviourist
2. Cognitivist
3. Innateness
4. Constructivist

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 50521227523 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Children have an internal inborn faculty that help them discover the underlying pattern of the language. Which of the
following approach might be support the statement?

1. Behaviourist
2. Cognitivist
3. Innateness
4. Constructivist

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521227524 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following may NOT occur in expressive language disorder?

Difficulty in understanding place value
Limited amount of speech

Difficulty learning new words
Difficulty finding the right word

el o

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521227524 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following may NOT occur in expressive language disorder?

Difficulty in understanding place value
Limited amount of speech

Difficulty learning new words
Difficulty finding the right word

P Ll B P

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 50521227525 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match List-I component of language with List-IT meaning of the language component and select the correct option
from the given codes bellow.

List-I List-IT (meaning of anguage components)
(Component of
language)

I Phonology A. Refers to the rules for engaging in

appropriates and effective

communication,

I.  Semantic B. Refers to the rules governing the

structure and sequence of speech

sounds.

I Syntax C. The way underlying concepts are

expressed in words and word

combinations.

IV.  Morphology D. The rule hy which words are
arranged into sentences.

E. Grammatical markers indicating
number, tense, case, person,
gender, active or passive voice and
other meanings.

1. 1(B), 1I(C), (D), IV(E)
2. 1{A), 1I(C), I{E), V(D)
3. 1(B), II(E), l{E), V(D)
4. 1(D), N(E), IN(E), IV(A)

Options :



1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 50521227525 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match List-I component of language with List-IT meaning of the language component and select the correct option
from the given codes bellow.

List-I List-IT (meaning of language components)
(Component of
language)

I Phonology A. Refers to the rules for engaging in

appropriates and effective

communication.

I Semantic B. Refers to the rules governing the

structure and sequence of speech

sounds.

I Syntax C. The way underlying concepts are

expressed in words and word

combinations.

IV.  Morphology D. The rule hy which words are
arranged into sentences.

E. Grammatical markers indicating
number, tense, case, person,
gender, active or passive voice and
other meanings.

1. 1(B), NI(C), (D), IV(E)
2. 1(A), 1I(C), N(E), V(D)
3. 1(B), lI(E), IN{E), V(D)
4. 1(D), II(E), IN(E), Iv(A)

Options :

1.1

2.2

3.3

4.4



Question Number : 112 Question Id : 50521227526 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Vocabulary acquisition of a child between 1% and 2§ year, reaches about 250 words and in two word utterance. This is
known as

1. telegraphic speach

2. grammatical morphemes
3. over regularize

4. conversions

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 50521227526 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Vocabulary acquisition of a child between li and 2; year, reaches about 250 words and in two word utterance. This is
known as

1. telegraphic speech

2. grammatical morphemes
3. over regularize

4, conversions

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 50521227527 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the following does not foster language development?

Using language to express fantasy

Using language to narrate events to begin and end a conversation
Using language to form and maintain social contact

Using language to social categorization

P Ll B P

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 50521227527 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following does not foster language development?

Using language to express fantasy

Using language to narrate events to begin and end a conversation
Using language to form and maintain social contact

Using language to social categorization

P Ll B P

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521227528 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the following learning theories believes that language learning can be automatically attained with the
help of practice and reinforcement?

1) Cognitivism

2) Behaviourism
3) Constructivism
4) Interactionism

Options:
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521227528 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following learning theories believes that language learning can be automatically attained with the
help of practice and reinforcement?

1) Cognitivism

2) Behaviourism
3) Constructivism
4) Interactionism

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521227529 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is a characteristic of extensive reading?

1. Reading for fluency involves reading of longer text for pleasure

2. Reading for accuracy involves approaching a text under the close guidance of a teacher
3. Glancing rapidly through the text to find out some piece of information

4. Go through the text quickly in order to get gist

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521227529 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a characteristic of extensive reading?

1. Reading for fluency involves reading of longer text for pleasure

2. Reading for accuracy involves approaching a text under the close guidance of a teacher
3. Glancing rapidly through the text to find out some piece of information

4. Go through the text quickly in order to get gist

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521227530 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Receptive language skills refers to

ability to understand and comprehend a new language.

ability to understand and express the spoken language.

the abhility to understand and comprehend spoken languages that one hears or reads.
the ability to understand and comprehend the second language.

Lo e



Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521227530 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Receptive language skills refers to

1. ability to understand and comprehend a new language.

2. ability to understand and express the spoken language.

3. the ability to understand and comprehend spoken languages that one hears or reads.
4. the ability to understand and comprehend the second language.

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521227531 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching a second language in classroom use of ‘scaffolding for comprehension ability’ by teacher involves-

1. gesturing and using facial expressions
2. home language summaries

3. useof picture dictionary by the teacher
4. use of symbols

Options:
1.1

2.2



3.3
4.4

Question Number : 117 Question Id : 50521227531 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching a second language in classroom use of ‘scaffolding for comprehension ability’ by teacher involves-

1. gesturing and using facial expressions
2. home language summaries

3. useof picture dictionary by the teacher
4. use of symbols

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521227532 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Forbidding a child to use their home language at school is detrimental to their learning because

1. using home language negatively affect learning.

2. itisviolation of their right.

3. itisillegal to prohibit the use of home language in school.

4. it may make students feel marginalized and feeling lost in the class.

Options :
1.1
2.2
3.3
4.4



Question Number : 118 Question Id : 50521227532 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Forbidding a child to use their home language at school is detrimental to their learning because

1. using home language negatively affect learning.

2. itisviolation of their right.

3. itisillegal to prohibit the use of home language in school.

4. it may make students feel marginalized and feeling lost in the class.

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521227533 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

is multiple discursive practices in which multilinguals/bilinguals engage in order to make sense
of their bilingual/multilingual worlds.

1. Translanguaging
2. Semilingualism
3. Code mixing

4, Code switching

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521227533 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



is multiple discursive practices in which multilinguals/bilinguals engage in order to make sense
of their bilingual/multilingual worlds.

1. Translanguaging
2. Semilingualism
3. Code mixing

4. Code switching

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521227534 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mother tongue based multilingualism refer to

1. learners begin their schooling in mother tongue and move on to add many more (at least two) languages in
school.

2. learners begin their scholarship in home language and move on to add English and Hindi.

3. learners begin their schooling in English and move on to add three more languages.

4. learners learn through mother tongue in primary school and add English later.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521227534 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Mother tongue based multilingualism refer to

1. learners begin their schooling in mother tongue and move on to add many more (at least two) languages in
school.

2. learners begin their scholarship in home language and move on to add English and Hindi.

3. learners begin their schooling in English and move on to add three more languages.

4. learners learn through mother tongue in primary school and add English later.

Options:
1.1
2.2
3.3
4.4
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Question Number : 121 Question Id : 50521227536 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

I3

1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 50521227537 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 50521227538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
1. foame frm =
3. TR
4. Fafma

Options :

I3

1.1
2.2
3.3
4.4
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Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521227540 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR 5T § T E —
1. T2

2
FHETH
3. 3%

4. 9959

E]

I-J

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 50521227541 Question Type : MCQ Option Shuffling : No
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Options :
1.1
2.2
3.3
4.4
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3
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Question Number : 122 Question Id : 50521227537 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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3.3
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3.3
4.4
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Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4
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Options :
1.1
2.2
3.3
4.4
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬁlﬂmﬁuﬁ@ﬂﬁ'ﬁimm oqT?
. 399 FEERT 7R FE-Fat aivd =il
2. FIN HATRTET =T UTe AT €|
3. Tt S = qeea =wr
4. TR T HERR ST 59T TE

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 50521227548 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



BETGEIT THE =L o T 2, 01 —

|. UE SR TS UST W ST FEl ST FehAT)
. ST TS ST B, ST ST T5T 2
3. TSHE=T 9T ST B, ST S 9T 2
4. BTET Y fawre & 9ra=T 72 uaae]

Options :

I3

1.1
2.2
3.3
4.4
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4. AT H
Options :
1.1
2.2
3.3
4.4
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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2.2
3.3

4.4
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Correct Marks : 1 Wrong Marks : 0
e T AT TE BT
|. W
EEH
3. €A
4. HeaL

Options :

I-J

1.1
2.2
3.3
4.4

Question Id : 50521227544 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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Question Number : 129 Question Id : 50521227545 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 50521227546 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 50521227547 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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4.4
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Options :
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3.3
4.4
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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4.4
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T FRW 3 T 00 e 0 A S o S 3 oA A fo e e
| s

3. TR

4. RO

Options :

-2

1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 50521227561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TAF RRW % T 1 TG T I S [R5 S 3 (o7 T Fe S e
[I=IE)
3. JdI®
4, o

Options :

-2

1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 50521227562 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T3 T TG U TS TR T8 £, 7 MR o 6 T 31 e S e -
|, 7T ST § ST S 2
2, TS % O 2|
3, W97 T AU H A 2|
4, W97 T 3T FEAT FA T 2|

Options :

1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 50521227562 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Ttz ST FET U T W TR 2, 79 e 5§ ae 3 (e 2 e -
1. T ST ¥ e e 2
2. T U O €]
3, TN 0 AT H AFAT 2
4, 9T % EF FEA T
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 50521227563 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T fereor o seTeaTe fafer T v T 3 for e fo o e et £ -
. GH-ARH T

. T W

B RERLICER
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-

ad

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 50521227563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T fereor o seTeaTe fafer T v T 3 for e fo o e et £ -
. GH-ARH T
. T W
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4. FFH-IHA T

-

ad

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 50521227564 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TATeTRad = | -9 T STHE HISTET ST 3 o0 7geqv )
l. W—W
2. UEAT-foTEAT
3. I1-agT
4. mﬁm%@m
Options :
1.1
2.2
3.3

4.4

Question Number : 148 Question Id : 50521227564 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

foefertiae & & shi=-a1 g STfermeor wTsTeh ST o feor qeea 2)
. TS
2. UET-feTEAT
3. AT
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Options :

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 50521227565 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



m%mﬁmw%wmmmﬁﬁmmwﬁhm erateren 1 3o fo, e, Sfem &
9T 7 T 1 AT e 2
TR 3 1T 27 3 A T -1 32 o e e

1, e O AT 5 T A e e
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4. e T S T i T

Options :

1.1
2.2
3.3

4.4

Question Number : 149 Question Id : 50521227565 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
S i v e e o e e 1, s
7T T e 1 TR e 2
I % T 29 8% e .8 401 o e e
|, e T T 3 T A S
). T & 1 T A
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Options :

1.1
2.2
3.3

4.4

Question Number : 150 Question Id : 50521227566 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
ore a1 srferne Ao AT 3 A AT i ST R e 7 3 o e 2
I. VIII &1 as
2. VRETTh
3. XTHTh
4. VIHE T
Options :
1.1
2.2
3.3

4.4

Question Number : 150 Question Id : 50521227566 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Fore o eRferene Ao AT 3 AR AT i S o e 9 3 o e 27
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4. VIFE T
Options :
1.1
2.2
3.3
4.4



